
43261 - Pioneer Tie Down

Instructions

60kg Maximum

Tighten to 
6.5N/m

Item 43261 Qty Part No.
1 M6 x 20mm T27 Torx Screw 4 B243
2 M6 Spring Washer 4 W004
3 M6 x 12.5mm Flat Washer 4 W003
4 Pioneer Tie Down 4 CA1786
5 M6  20x20mm Square Nut 4 N025
6 T27 Torx Key 1 H054
7 Instructions 1 R1842

!

!

1 2

Warning:
- Use only non-stretch fastening
ropes or straps.
- Exercise care when transporting
wind-resistant loads. Special 
consideration must be taken when 
cornering or braking.
- Please refer to your vehicle
manufacturers handbook for
maximum carrying capacity.
- Do not “overload”. A safety factor of
1.5 is required for off -road use.

Side Tab Kit required.

2.

3.

5.

4. 6.

1.

Or.

4.

3

4

2.
3.

1.

6.

2.
3.

1.

5.

5.

5.

Shop for quality Rhino-Rack products on our website. Learn more about roof racks and cargo carriers we have.

https://www.carid.com/rhino-rack/
https://www.carid.com/roof-racks.html



